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of]hgf tyf sfo{qmd /sd s'n /sd

1 dlxnf nlIft sfo{qmd 280,000.00

1=1 dlxnf ;zltms/0f 35,000.00

1=2 lzk las; sfo{qmd 100,000.00

1=3 O{{gf/,s'jf tyf k"jf{wf/ sfo{qmd 100,000.00

1=4 dlxnf lasf; sfo{qmd 45,000.00

2 jfnjflnsf nlIft sfo{qmd 280,000.00

2=1 afnd}qL :yfgLo zf;g k|a{4g 50,000.00

2=2 z}lIfs tyf v]ns'8 ;fdfu|L lat/0f 30,000.00

2=3 jfn>d Go"lgs/0f tyf afn lx+;f /f]syfd 70,000.00

2=4 g]t{Tj lasf; sfo{qmd 30,000.00

3 k'jf{wf/ las; tyf cGo sfo{qmd 100,000.00

3=1 lk5lbO{Psf] ju{ pTyfg sfo{qmd 420,000.00

3=2 lzk lasf; sfo{qmd 100,000.00

3=3 ;'wf/LPsf] r'Nnf] lgdf{0f sfo{qmd 25,000.00

3=4 u|fld0f If]qdf afv|f kf7f lat/0f 20,000.00

3=5 nlIft ju{ ;d'bfo If]qdf k'Ug] af6f] ;'wf/ 100,000.00

3=6 u|fld0f If]qdf ;fgf vfg]kfgL of]hgf 100,000.00

3=7 jfnL ladf tyf laifftm Go'lgs/0f sfo{qmd 35,000.00

3=8 pGgt t/sf/L v]tL k|a{4g sfo{qmd 40,000.00

4 cztm ,ckfË ;DaGwL laz]if sfo{qmd ;xof]u 100,000.00 100,000.00

hDdf 1,080,000.00 1,080,000.00
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;fd'bflos ljsf; sfo{qmd


